TotalMarks: Class:9th Time:....

Test:Physics

Attempt ......... questions

! Rate of change of momentum is equal to -LGMC/U/J/V u"r“/
a.Torque b. Force - A-a
c. Mass d. Distance ,Ma_d Jl-c

2 Coefficient of friction is equal to _Lm,.,/.ﬁ&,,fgf/’
aF/R b.FR a.FJR b.FR
cR/F d.F +R .. R/E d.F+R

3 A force produces an acceleration of 100ms Ld/,vu)/dlgl 00ms J()£5kg Uid L
in amass 5 kg. The value of force is: J},J JJ/”J’
a.2N b.20N a. 2N b.20N
c.30N d.500N ¢.30N d.500N

4 Weight ‘W’ is equal to: - Uyl W s
a. W=mg b.W=m/g a. W=mg b.W= m/g
¢.W=g/m d.W=1/mg eW=g/m d.W=1/mg

’ Centripetal force always act . ... to the motion -‘é&/ Jf e J U: e J f) o J%' $*~
of the body: JJ | z<b i _a
a. opposite b. Parallel J/J/:!-d o e
c. Perpendicular  d. Upward N

6 Centripetal force is directly proportionalte U ‘-’.f’/-:&f// . ZL """ s Jf’:d}i
B il B, a.m b.v
c.v d.r c.v d.r

When the cyclist stops padaling, bycycle stops ?dl’ Jdé V’JLL‘J J/w/’// d”b‘/&b’u’
e 8

due to: -

a. Friction b. Momentum (J“/ ¥-b Uj /-a

c. Weight d. Mass Ji-d Wis-c
i If the velocity of a body becomes double, the S nd S S =Lt i d/() U/

centripetal force will be: o )

a. Half b. Three times greater ”'L'JU(/U: -b —-a

c. Double d. Four times greater L ‘?Clg-d e
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